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QUESTION 1

Which statuses are correct after a SRDF Split?

A. R1=WD, Link = NR, R2 = RW, RDF Pair = Split

B. R1 = RW, Link = NR, R2 = RW, RDF Pair = Split

C. R1 =RW, Link = NR, R2 = WD, RDF Pair = Split

D. R1 = RW, Link = NR, R2 = RW, RDF Pair = Resumed

Correct Answer: B

QUESTION 2

How many SRDF groups can a Symmetrix VMAX array support?
A. 250

B. 256

C. 1024

D. 2048

Correct Answer: A

QUESTION 3

How are the ports for Federated Tiered Storage configured on a Symmetrix VMAX 40K array?
A. EMC customer service uses SYMMWIN to convert FA ports

B. EMC customer service uses SYMCLI to convert FA ports

C. Anyone can use Unisphere for VMAX to convert RF ports

D. Anyone can use Unisphere for VMAX to convert FA ports

Correct Answer: A

QUESTION 4

Refer to the Exhibit.
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Source Site
Host

Target Site
Host

SRDF Links

STD R1-BCV R2

What is the correct state for the Standard and R1-BCV prior to issuing a symreplicate start command?
A. Synchronized

B. Split

C. Suspended

D. Write Enabled

Correct Answer: A

QUESTION 5

On a Symmetrix VMAX array, which local replication technology is used by SRDF/AR single hop?
A. TimeFinder/Clone Emulation

B. Native TimeFinder/Clone

C. Native TimeFinder/Mirror

D. TimeFinder/Snap

Correct Answer: A

QUESTION 6
What Unisphere for VMAX Big Button is used to facilitate the encapsulation of a CLARiiON LUN?

A. External Storage
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B. Disk Groups
C. Volumes
D. Migration

Correct Answer: A

QUESTION 7

Open Replicator Hot Pull will be used to move data between a third-party array and a Symmetrix VMAX array.
What is recommended before starting the Open Replicator session?

A. Ensure that the remote devices are not host accessible

B. Ensure that the remote devices are host Read/Write Enabled

C. Ensure that the control devices are Not Ready

D. Ensure that the control devices are Write Disabled

Correct Answer: A

QUESTION 8
Two SRDF/A sessions are grouped together to be managed using Multi-Session Consistency.

What happens to cycle switching if Session 1 completes its current Transmit cycle before Session 2 can complete its
current Transmit cycle?

A. Cycle switch for both sessions will be delayed

B. Both sessions will be dropped

C. Cycle switch for Session 1 will proceed independently of Session 2
D. Cycle switching will be suspended for both sessions

Correct Answer: A

QUESTION 9
What happens when a TimeFinder/Snap session is terminated?

A. The virtual device is made Not Ready Tracks on the Save Device(s) are reclaimed if not referenced by another
session The copy session structures are freed-up
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B. The virtual device is made Read-Only Tracks on the Save Device(s) are reclaimed if not referenced by another
session

C. The virtual device is removed Tracks on the Save Device(s) are reclaimed if not referenced by another session

D. The virtual device is made Not Ready The copy session structures are written to the virtual device Tracks on the
Save Device(s) are reclaimed if not referenced by another session

Correct Answer: A

QUESTION 10

On a VMAX using TimeFinder VP Snap five sessions have been activated against a single data source at different times
so each session contains a different point in time snapshot of the data on the source. Track 1000 was overwritten after
the last session was activated.

What happens when data is being written to track 1000 in the 4th target?

A. The original data of track 1000 will remain unchanged for targets 1, 2, 3 and 5. Target 4 will get its own modified copy
of that track.

B. The original data of track 1000 will remain unchanged for targets 1, 2 and 3. Targets 4 and 5 will get their own
modified copy of that track.

C. The original data of track 1000 will remain unchanged for targets 1, 2 and 3. Target 4 will get its own modified copy of
that track. Target 5 will get its own copy of the original track 1000.

D. Targets 1, 2 and 3 will get their own copy of the original track 1000. Track 4 will get its own modified copy of that
track. The original data of track 1000 will remain unchanged for target 5.

Correct Answer: A

QUESTION 11

Which Open Replicator transfer mode allows for more than one concurrent copy?
A. Cold Push

B. Cold Pull

C. Hot Push

D. Hot Pull

Correct Answer: A

QUESTION 12

You are using Symmetrix Virtual Provisioning in a VMAX. One of the storage administrators reports that the thin pool is
full.
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What should you do to resolve the problem?
A. Add data devices to the pool

B. Add thin devices to the pool

C. Migrate data devices to another pool

D. Rebalance the data in the pool

Correct Answer: A

QUESTION 13
A pair of Symmetrix VMAX arrays have been configured for SRDF/Synchronous replication.

What is the result if one or more source (R1) devices in an SRDF/Synchronous consistency group cannot propagate
data to their corresponding target (R2) devices?

A. RDF daemon suspends the consistency group, thereby stopping data propagation from all R1 devices
B. Target (R2) devices will be Read/Write Enabled at the R2 site
C. PowerPath suspends data propagation to the R1 devices in the consistency group

D. RDF daemon suspends the data propagation from the affected R1 devices while maintaining consistency among the
remaining devices

Correct Answer: A

QUESTION 14

You are installing a Symmetrix VMAX storage array running Enginuity 5876. The customer has an older Symmetrix
VMAX array running Enginuity 5874 and wants to update to Solutions Enabler 7.5.

What license type is required for the VMAX array running Enginuity 58747?
A. Host-based license

B. Electronic license

C. SMC license

D. Capacity-based license

Correct Answer: A

QUESTION 15
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A customer is implementing EMC VMAX array and is using the new management console for the Symmetrix VMAX for
management and performance operations.

How many eLicense entitlements must be used?

A. Single eLicense entitlement for both operations.

B. Single eLicense entitlement per Solutions Enabler.
C. eLicense entitlement per operation.

D. eLicense entitlement per Unisphere server.

Correct Answer: A
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